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Caesar cipher:

1. Choose a key between 1 and 25.

2. Add this number to the decimal-encoded letters of the message in
mod 26.

3. Convert the decimal-encoded letters back to letters.

4. To decrypt, reverse by subtracting instead of adding the key.

Vigenere cipher:

1. Choose a 4-6 letter word as a key

2. Add this word to the message in mod 26 under a decimal-
encoding of the letters. If the word is shorter than the message,
repeat the word over and over again.

3. Convert the decimal-encoded summed message back to letters.

4. To decrypt, reverse by subtracting instead of adding the key.

RSA algorithm:

1. Alice says hello to Bob.

2. Bob choose two large prime numbers p, g (for this exercise,
choose 2-digit prime numbers)

Bob chooses an exponent k

Bob sends (n, k) to Alice as a public key.

Alice has a message m, and she sends b = a* (mod n) to Bob.
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Bob decrypts the message by computing a = Vb (mod n),
because he knows ¢p(n) = (p — 1)(q — 1)



